### Kansas Corporation Commission Oil & Gas Conservation Division

# ORIGINAL Sep

#### Form ACO-1 September 1999

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #5039	API No. 15 - 15191224410000
Name: A G V Corp.	County:Sumner
Address: 123 N Main	C $\frac{E_2^1}{2}$ $\frac{E_1^2}{2}$ $\frac{SE_1^4}{4}$ Sec. 22 Twp. 31 S. R. 3 $\square$ East $\times$ West
City/State/Zip: Attica, Ks 67009	
Purchaser:	feet from ②/ W (circle one) Line of Section
Operator Contact Person: Larry G. Mans	Footages Calculated from Nearest Outside Section Corner:
Phone: (_620) 254-7222	(circle one) NE E NW SW
Contractor: Name: Forrest Energy LLC	Lease Name: Cummings Well #: 1
License: 33436	Field Name: Cora Stone
Wellsite Geologist: Rod Anderson	Producing Formation: White Cloud
Designate Type of Completion:	Elevation: Ground: 1310 Kelly Bushing:
New Well Re-Entry Workover	Total Depth: 2450 Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at263 'Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeel
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	J SA CITIL
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan  (Pate must be self-stand from the Planes Fift)
Deepening Re-perf Conv. to Enhr./SWD	(Data must be collected from the Reserve Pit)
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls
Commingled Docket No	Dewatering method used
•	Location of fluid disposal if hauled offsite:
	Operator Name: KANSAS CORPORATION COMMISSION
Other (SWD or Enhr.?) Docket No	Lease Name: Lightse Not: 2005
12-16-2004 12-21-2004 1-18-2005	Ouester See Two S 3-/5-200-54 D West
Spud Date or Pate Reached TD Completion Date or Recompletion Date  Date Reached TD Recompletion Date or Recompletion Date	Quarter Sec. Twp. S. R 5 2 DEast West County: Docket Novichita, KS
Kansas 67202, within 120 days of the spud date, recompletion, workow Information of side two of this form will be held confidential for a period of	n the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ter or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-3 and geologist well report shall be attached with this form. ALL CEMENTING S. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regula fierein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
1 300 -	
Signature: Oacy & Man 3/1	KCC Office Use ONLY
Title: Secretary Date: 3/14/25	Letter of Confidentiality Attached
Subscribed and sworn to before me this 14th ay of	If Denied, Yes Date:
18 200.5	Wireline Log Received
Notary Public: Clarres Ech Notary Public - Str	ate of Kansas
Date Commission Expires: Oct 7, 2007	7-2007

Operator Name:	RIGINA	0		e Name:_	Cummir	nas	_ Well #:1		
Sec. 22 Twp.	31 s. a. 3	East X West	Count	_	umner		_ vveii #		
INSTRUCTIONS: S tested, time tool ope temperature, fluid re-	how important tops n and closed, flowin covery, and flow rate	and base of formations g and shut-in pressures es if gas to surface test, final geological well site	penetrated. , whether s along with	Detail a	essure reached	static level, hydro	static pressu	ıres, bott	tom hole
Drill Stem Tests Take	• • •	Yes X No			og Formati	on (Top), Depth a	nd Datum		] Sample
Samples Sent to Ge	ological Survey	🔀 Yes 🗌 No		Nam	e		Тор		Datum
Cores Taken Electric Log Run (Submit Copy)	☐ Yes 🔀 No								
List All E. Logs Run:									
Dual	Induction Compensate Cement Bo								
		CASING Report all strings set-	RECORD	Ne		tian, etc.		***************************************	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)		ight / Ft.	Setting Depth	Type of Cement	# Sacjs Used		e and Percent Additives
Surfa	ce	8 5/8	23		263	Common	200		CC
Production		41/2	10.5		2454	AA-2Commo	on 150		Gilsonit Salt
		ADDITIONAL	L CEMENTI	NG / SQU	JEEZE RECORD				
Purpose: Perforate Protect Casing	Depth Top Bottom 2063	Type of Cement	#Sacks	Used		Type and Pe	ercent Additive	s	·
Plug Back TD Plug Off Zone	2073	Common	75						
Shots Per Foot		ON RECORD - Bridge Plu Footage of Each Interval Pe			Acid, Frac	cture, Shot, Cement	Squeeze Reco	ord	Depth
4	2063-2073				750 Ga	10% MCA l 10% Met	hanol		2063 2073
4	2063-2065		1		250 Gal	10% MCA 10% Meth	anol		2063
					750 Gal				2063
TUBING RECORD	Size	Set At	Packer A	t	Liner Run				
Date of First Barrier	Dundardi Olivo					Yes No			
Date of First, Resumerd	Froduction, SWD or E	nhr. Producing Met	поа [	Flowing	Pumpin	g Gas Lift	Oth	er <i>(Explai</i> i	n)
Estimated Production Per 24 Hours	Oil E	Bbls. Gas	Mcf	Water	Bb	ols. Ga	as-Oil Ratio	·	Gravity
Disposition of Gas	METHOD OF C		,		Production Interv	al	,		
Vented Sold (If vented, Sun	Used on Lease	TA Open Hole Other (Speci	Perf.	D.	ually Comp.	Commingled			



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

11375

Bill to:		553			ice Date	Order (	order Date			
	ATTICA GAS VENTURES	}	41		2/28/04	9503	12/22/04			
	123 N. Main		Service Description Cement							
	Attica, KS 67009		Ceme	nt						
			ļ							
				Leas	е	W	ell			
4.5				Cumm						
AF.		Treater			urchase Orde	r Tei	TILS			
	K. Roberts	C. Messick	New V	Vell		Net	: 30			
<u>ID.</u>	<u>Description</u>		<u>UOM</u>	Quantity	<u>Unit Price</u>	Pri	ce			
D205	AA2 (COMMON)		SK	150	\$15.50	\$2,325.00	(T)			
D203	60/40 POZ (COMMON)		SK	15	\$9.09	\$136.35	5 (T)			
C195	FLA-322		LB	113	\$7.50	\$847.50	) (T)			
C221	SALT (Fine)		GAL	776	\$0.25	\$194.00	) (T)			
C244	CEMENT FRICTION RED	UCER	LB	36	\$4.75	\$171.00	) (T)			
C312	GAS BLOCK		LB	106	\$5.15	\$545.90	) (T)			
C321	GILSONITE		LB	734	\$0.60	\$440.40	• •			
C305	A FLUSH BLEND		GAL	1000	\$0.35	\$350.00	• •			
F100	TURBOLIZER, 4 1/2"		EA	10	\$67.00	\$670.00	` '			
F170	LATCH DOWN PLUG & B	AFFLE, 4 1/2"	EA	1	\$230.00	\$230.00	` ,			
F210	AUTO FILL FLOAT SHOE	, 4 1/2"	EA	1	\$269.00	\$269.00	` '			
F292	CEMENT SCRATCHERS R	OTATING TYPE	EA	30	\$48.85	\$1,465.50	` ′			
E100	HEAVY VEHICLE MILEA	GE - 1 WAY	MI	75	\$3.65	\$273.75				
E101	CAR, PICKUP OR VAN MI	LEAGE - 1 WAY	МІ	75	\$2.15	\$161.25				
E104	PROPPANT / BULK DELIV MILE, \$200 MIN	SERVICES/TON	TM	578	\$1.60	\$924.80	1			
E107	CEMENT SERVICE CHAR	GE	SK	165	\$1.50	\$247.50	1			
R205	CASING CEMENT PUMPE 4 HRS ON LOC	R, 2001-2500' 1ST		1	\$1,449.00	\$1,449.00	1			
R701	CEMENT HEAD RENTAL		EA	1	\$250.00	\$250.00				
R702	CASING SWIVEL RENTAL	,	EA	1	\$150.00	\$250.00 \$150.00				

12/29/04 9452

Sub Total: \$11,100.95 Discount: \$3,278.34

Discount Sub Total:

\$7,822.61

Sumner County & State Tax Rate: 6.30% Taxes: \$339.38

(T) Taxable Item

Total:

\$8,161.99

C-312 106 (b. Gas Blott  C-321 734   b. Gilsonite  C-305 1,000 gal. A: Flush  F-100 10 eq. Turbolizer, 4'b"  F-170 1 eq. I.R. Latch Down Plug and Baffle, 4'2"  F-210 1 eq. Auto Fill Float Shoe, 4'b"  F-210 1 eq. Auto Fill Float Shoe, 4'b"  F-210 30 eq. Cement Scratchers, Rotating Type  SONSERVATION DANSION WICHTA, KS  E: 100 75 mi. Heavy Vehicle Mileage  E: 101 75 mi. Pictup Mileage  E: 107 165 sh. Cement Service Charge  R-205 1 eq. Casing Cement Pumper, 2001-2500'  R: 701 1 eq. Cement Head Rental	* ***	.4	INVOICE NO.	٦		BIBI	D ORDER	9503
Attica Gas Ventures  Outsome Days  Fromston  Chipper Symner  Outsome Register  Chipper Symner  Tour Competition  Ancient  Chipper Symner  Chip			Date		t to Correction			7303
Aftica Cas Ventures  Depth   Formation   The Number   The			12-22-04	CUMM	ins	1	22-319	i-3W
Httica Gas Ventures    Company   Com	SER	VICES,		County Sum	ner	State T	S. Station Pro	att
Compression of the control of the co	A+:	(	Ventures	Depth	Formation		Shoe Joint	
The transfer to the transfer transfer to the transfer transf	H	4 Gas	veniones	Casing	Casing Depth	TD	Job Type	
AFE Number  PONumber  PONumber  NATERIAL SOUPMENT and SERVICES USED  D-205  1505k  AF-2 (com mon)  D-205  1505k  AF-2 (com mon)  D-205  1505k  AF-2 (com mon)  C-195  1131b  FLA-322  C-221  7761b  Salt (Fine)  C-344  361b  Cement Friction Reducer  C-321  7341b  Gilsonite  C-305  Loea gal  A-Flush  F-100  10ea  Turbolizer, 4'/2"  F-170  1ea  Auto Fill Float Shoe, 4'/2"  F-210  1ea  Cement Scratchers, Rotating Type  Celed 578 in. Heavy Vehicle Mileage  6-107  1ex  Casing Cement Pumper, 2001-2500'  R-701  1ea  Cement Head Rental  Discounted Price =  Plustaxes	Ř ——	, <u>, , , , , , , , , , , , , , , , , , </u>	Andrews and the second	Customer Repres	entative	Trea	ter	
Product	E			I Tent R	oberts	Cla	arence R.Me	essich
Product	AFE Number		I PO Number	Materials	v / -	1		
Code   QUANTITY   MATERIAL EQUIPMENT and SERVICES USED   UNIT PRICE   AMOUNT   CORRECTION   AMOUNT		· · · · · · · · · · · · · · · · · · ·		Received by	X Xes	nt Hob	ub.	
D-203 15 st. 60/40 Poz (common)  C-195 113 lb. FL A-322  C-247 36 lb. Salt (Fine)  C-344 36 lb. Cement Friction Reducer  C-312 106 lb. Gas Bloth  C-305 1,000 gal. A. Flush  F-100 10 ca. Turbolizer, 4'b"  F-100 1ea. I.R. Latch Down Plug and Baffle, 4'b"  F-210 1ea. Auto Fill Float Shoe, 4'b"  F-210 30 ca. Cement Scratchers, Rotating Type  E-100 75 mi. Heavy Vehicle Mileage  E-104 578 tm. Bullt Delivery  E-107 165 st. Cement Service Charge  R-205 1ea. Casing Cement Pumper, 2001-2500'  R-701 1ea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes		QUANTITY	MATERIAL, EQUIPMENT and SI	ERVICES USED	UNIT PRICE	AMOUNT		
C-195 113 lb. FLA-322  C:221 776 lb. Salt(Fine)  C:344 36 lb. Cement Friction Reducer  C:312 106 lb. Gas Blotr  C:321 734 lb. Gilsonite  C:305 1,000 gal. A Flush  Filod 10 ca. Turbolizer, 4'b"  Filod 10 ca. Turbolizer, 4'b"  Filod 10 ca. Auto Fil Float Shoe, 4'b"  Filod 10 ca. Auto Fil Float Shoe, 4'b"  Filod 20 ca. Cement Scratchers, Rotating Type  C:100 75 mi, Heavy Vehicle Mileage  C:101 75 mi, Pictup Mileage  C:104 578 tm. Bult Delivery  E:107 165 sh. Cement Service Charge  R:205 1 ca. Casing Cement Pumper, 2001-2500'  R:701 1 ca. Casing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	D-205	150 sk	AA-2 (common)					
C:221 7761b. Salt(Fine) C:244 361b. Cement Friction Reducer C:312 1061b. Gas Blots C:321 7341b. Gilsonite  C:305 1,000 gal. A. Flush  Filoo 10 eq. Turbolizer, 4'b" Filoo 1eq. I.R. Latch Down Plug and Baffle, 4'b" Filoo 1eq. Auto Fill Float Shoe, 4'b" Filoo 1eq. Auto Fill Float Shoe, 4'b" Filoo 75 mi. Heavy Vehicle Mileage Filoo 75 mi. Pictup Mileage Filoo 75 mi. Pictup Mileage Filoo 75 mi. Bult Delivery Filor 165 st. Cement Service Charge  R:205 1eq. Casing Cement Pumper, 2001-2500' R:701 1eq. Casing Swivel Rental R:702 1eq. Cusing Swivel Rental  Discounted Price = \$7,322.61  Plustaxes	D-203	15 str.	60/40 Poz (comm	on)				
C:221 7761b. Salt(Fine) C:244 361b. Cement Friction Reducer C:312 1061b. Gas Blots C:321 7341b. Gilsonite  C:305 1,000 gal. A. Flush  Filoo 10 eq. Turbolizer, 4'b" Filoo 1eq. I.R. Latch Down Plug and Baffle, 4'b" Filoo 1eq. Auto Fill Float Shoe, 4'b" Filoo 1eq. Auto Fill Float Shoe, 4'b" Filoo 75 mi. Heavy Vehicle Mileage Filoo 75 mi. Pictup Mileage Filoo 75 mi. Pictup Mileage Filoo 75 mi. Bult Delivery Filor 165 st. Cement Service Charge  R:205 1eq. Casing Cement Pumper, 2001-2500' R:701 1eq. Casing Swivel Rental R:702 1eq. Cusing Swivel Rental  Discounted Price = \$7,322.61  Plustaxes		ļ						
C-244 361b. Cement Friction Reducer C-312 1061b. Gas Blots C-321 7341b. Gilsonite  C-305 1,000 gal. A: Flush  F-100 10ea. Turbolizer, 4'b" F-170 1ea. I.R. Latch Down Plug and Battle, 4"2" MAR 1 5 2005 F-210 1ea. Auto Fill Float Shoe, 4"b" F-210 1ea. Auto Fill Float Shoe, 4"b" F-210 1ea. Auto Fill Float Shoe, 4"b" MAR 1 5 2005 F-292 30 ea. Cement Scratchers, Rotating Type SONNERMATION DARSON WICHIA, KS  E-100 75 mi. Heavy Vehicle Mileage 1-way E-101 578 tm. Bult Delivery E-107 165 st. Cement Service Charge  R-205 1ea. Casing Cement Pumper, 2001-2500' R-701 1ea. Cement Head Rental R-702 1ea. Casing Swivel Rental  Discounted Price = Plustaxes	C-195	11316			_	<b>‡</b>		
C-312 106 lb. Gas Blots C-321 734 lb. Gilsonite  C-305 1,000 gd. A. Flush  F-100 10 eq. Turbolizer, 4"/2" F-170 1eq. I.R. Latch Down Plug and Bafffle, 4"/2" F-210 1eq. Auto Fill Float Shoe, 4"/2" MAR 15 2005 F-292 30 eq. Cement Scratchers, Rotating Type  C-100 75 mi. Heavy Vehicle Mileage 1-way E-101 75 mi. Pictup Mileage 1-way E-104 578 tm. Bult Delivery E-107 165 st. Cement Service Charge  R-205 1eq. Casing Cement Pumper, 2001-2500' R-701 1eq. Casing Swivel Rental R-702 1eq. Casing Swivel Rental Discounted Price = \$7,822.61 Plustaxes	C·221	77616.			_			
C-305 1,000 gal. A Flush  F-100 10 ea. Turbolizer, 41/2"  F-170 1ea. I. R. Latch Down Plug and Baffle, 41/2"  F-210 1ea. Auto Fill Float Shoe, 41/2"  F-210 1ea. Cement Scratchers, Rotating Type  Souscemand muslice  E-100 75 mi. Heavy Vehicle Mileage E-101 75 mi. Pictup Mileage E-104 578 tm. Bult Delivery E-107 165 st. Cement Service Charge  R-205 1ea. Casing Cement Pumper, 2001-2500'  R-701 1ea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	C-244	36 lb.	Cement Friction R	educer		<u> </u>		
C-305 1,000 gal. A. Flush  F-100 10 eq. Turbolizer, 4'b" F-170 1 eq. I. R. Latch Down Plug and Baffle, 4'b" F-210 1 eq. Auto Fill Float Shoe, 4'b" F-210 1 eq. Auto Fill Float Shoe, 4'b" F-210 30 eq. Cement Scratchers, Rotating Type  CONSERVATION DAMPICE  E-100 75 mi. Heavy Vehicle Mileage E-101 75 mi. Pictup Mileage E-104 578 tm. Bult Delivery E-107 165 str. Cement Service Charge  R-205 1 eq. Cazing Cement Pumper, 2001-2500' R-701 1 eq. Casing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	C-312	106 16.	Gas Blot					
F-100 10eq. Turbolizer, 41/2" - RECEIVED  F-170 1eq. I.R. Latch Down Plug and Baffle, 41/2" - MAR 15 2005  F-210 1eq. Auto Fill Float Shoe, 41/2" - MAR 15 2005  F-292 30eq. Cement Scratchers, Rotating Type - CONSERVATION DAMSON WICHITA, KS  E-100 75 mi, Heavy Vehicle Mileage 1-way  E-101 75 mi, Pickup Mileage 1-way  E-104 578 tm. Bult Delivery  E-107 169 st. Cement Service Charge  R-205 1eq. Casing Cement Pumper, 2001-2500'  R-701 1eq. Cement Head Rental  R-702 1eq. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	C.321	73416.	Gilsonite		-	<u> </u>		
F-100 10eq. Turbolizer, 41/2" - RECEIVED  F-170 1eq. I.R. Latch Down Plug and Baffle, 41/2" - MAR 15 2005  F-210 1eq. Auto Fill Float Shoe, 41/2" - MAR 15 2005  F-292 30eq. Cement Scratchers, Rotating Type - CONSERVATION DAMSON WICHITA, KS  E-100 75 mi, Heavy Vehicle Mileage 1-way  E-101 75 mi, Pickup Mileage 1-way  E-104 578 tm. Bult Delivery  E-107 169 st. Cement Service Charge  R-205 1eq. Casing Cement Pumper, 2001-2500'  R-701 1eq. Cement Head Rental  R-702 1eq. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes								
F. 170 lea. I.R. Latch Down Plug and Baffle, 41/2 — MAR 15 2005  F-210 lea. Auto Fill Float Shoe, 41/2" — MAR 15 2005  F. 292 30 ea. Cement Scratchers, Rotating Type — CONSETNATION DUMBLON WICHTA, KS  E. 100 75 mi, Heavy Vehicle Mileage I-way  E. 101 75 mi. Pictup Mileage I-way  E. 107 165 sh. Cement Service Charge  R-205 lea. Casing Cement Pumper, 2001-2500'  R-701 lea. Cement Head Rental  R. 702 lea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plus taxes	<u>C-309</u>	1,000 gal.	A. Flush		-	_		
F. 170 lea. I.R. Latch Down Plug and Baffle, 41/2 — MAR 15 2005  F-210 lea. Auto Fill Float Shoe, 41/2" — MAR 15 2005  F. 292 30 ea. Cement Scratchers, Rotating Type — CONSETNATION DUMBLON WICHTA, KS  E. 100 75 mi, Heavy Vehicle Mileage I-way  E. 101 75 mi. Pictup Mileage I-way  E. 107 165 sh. Cement Service Charge  R-205 lea. Casing Cement Pumper, 2001-2500'  R-701 lea. Cement Head Rental  R. 702 lea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plus taxes								
F. 170 lea. I.R. Latch Down Plug and Baffle, 41/2 — MAR 15 2005  F-210 lea. Auto Fill Float Shoe, 41/2" — MAR 15 2005  F. 292 30 ea. Cement Scratchers, Rotating Type — CONSETNATION DUMBLON WICHTA, KS  E. 100 75 mi, Heavy Vehicle Mileage I-way  E. 101 75 mi. Pictup Mileage I-way  E. 107 165 sh. Cement Service Charge  R-205 lea. Casing Cement Pumper, 2001-2500'  R-701 lea. Cement Head Rental  R. 702 lea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plus taxes	F-100	10 eq.	Turbolizer, 4/2"				RECEIVED	
F-210 Lea. Auto Fill Float Shoe, 4'/2"  Fi 292 30 ea. Cement Scratchers, Rotating Type  Conservation Division Wichita, KS  E-100 75 mi. Heavy Vehicle Mileage E-101 75 mi. Pictup Mileage E-104 578 tm. Bult Delivery E-107 165 st. Cement Service Charge  R-205 Lea. Casing Cement Pumper, 2001-2500' R-701 Lea. Cement Head Rental R-702 Lea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plus taxes	F. 170	lea.	I.R. Latch Down Pl	ug and But	fle, 4/2"		ANSAS CORPORATION C	QMMISSION
E-100 75 mi, Heavy Vehicle Mileage 1-way  E-101 75 mi. Pickup Mileage 1-way  E-104 578 tm. Bult Delivery  E-107 165 st. Cement Service Charge  R-205 1 ea. Casing Cement Pumper, 2001-2500'  R-701 1 ea. Cement Head Rental  R-702 1 ea. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	F-210	leq.	Auto Fill Float She	oe, 41/2"	-		MAR 1 5 20	105
E·100 75 mi, Heavy Vehicle Mileage 1-way  E·101 75 mi, Pickup Mileage 1-way  E·104 578 tm. Bult Delivery  E·107 165 str. Cement Service Charge  R·205 1ea. Casing Cement Pumper, 2001-2500'  R·701 1ea. Cement Head Rental  R·702 1ea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plus taxes	F. 292	30 ea.	Cement Scratchers	Rotating	Type -		CONSCIONATION DAVI	dina:
E. 101 75Mi. Pickup Mileage I-way  E. 104 578tm. Bult Delivery  E. 107 165 st. Cement Service Charge  R-205 lea. Cazing Cement Pumper, 2001-2500'  R-701 lea. Cement Head Rental  R. 702 lea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes								91000
E-104 S78 tm. Bult Delivery  E-107 165 st. Cement Service Charge  R-205 Lea. Casing Cement Pumper, 2001-2500'  R-701 Lea. Cement Head Rental  R-702 Lea. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plus taxes	E-100			age	1-way			
E.107 165 str. Cement Service Charge  R-205 lea. Cazing Cement Pumper, 2001-2500'  R-701 lea. Cement Head Rental  R-702 lea. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	E. 101	75Mi			1-way			
R-205 lea. Casing Cement Pumper, 2001-2500'  R-701 lea. Cement Head Rental  R-702 lea. Casing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	E-104	578 tm.	Bult Delivery		•			
R.701 lea. Cement Head Rental  R.702 lea. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	E-107	165 str.	Cement Service Ch	atge				
R.701 lea. Cement Head Rental  R.702 lea. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes								
R.701 lea. Cement Head Rental  R.702 lea. Cusing Swivel Rental  Discounted Price = \$7,822.61  Plustaxes	R-205	lea.	Casing Cement Pum	oer, 2001-	25∞′	-		
Discounted Price = \$7,822.61 Plustaxes	R-701	lea.	Cement Head Renta	<u>.</u>				
Plus taxes	R.702	\ ea.	Cusing Swivel Ren	tal				
Plus tax es			Diameter Date			\$-0 (1		
	***************************************					47,822.61		
10244 NE Hiway 61 · P.O. Box 8613 · Pratt, KS 67124-8613 · Phone (620) 672-1201 · Fax (620) 672-5383			LIND LAY ED					
10244 NE Hiway 61 · P.O. Box 8613 · Pratt, KS 67124-8613 · Phone (620) 672-1201 · Fax (620) 672-5383								
10244 NE Hiway 61 · P.O. Box 8613 · Pratt, KS 67124-8613 · Phone (620) 672-1201 · Fax (620) 672-5383								
	10244 NE H	iway 61 · P.O.	Box 8613 - Pratt. KS 67124-86	13 - Phone (620	) 672-1201 . E	ay (620) 672-5393	TOTAL	<u>L</u>



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

**SALES & SERVICE OFFICE:** 

1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 [620] 624-2277 (620) 624-2280 FAX

## Invoice

			11	ivou	ce				
Bill to:	ATTICA GAS VEN	5535		Invoice 412071	12.		133	rder Date 2/17/04	
123 N. Main Attica, KS 67009								1375	
						Leas ımmi		<b>W</b> e	u j
AFE			Treater		Well Type	P	urchase Order	Ter	ns
	D, Staat	s E	B. Drake	Nev	v Well			Net	30
<u>ID.</u>	<u>Description</u>			<u>UOM</u>	Quan	tity	Unit Price	<u>Pric</u>	<u>'e</u>
D203	60/40 POZ (COMM	ION)		SK	:	200	\$9.09	\$1,818.00	(T)
C194	CELLFLAKE			LB		45	\$3.41	\$153.45	(T)
C310	CALCIUM CHLOR	RIDE		LBS	;	516	\$0.90	\$464.40	(T)
F163	WOODEN CEMEN	IT PLUG,	8 5/8"	EA		1	\$88.90	\$88.90	(T)
E100	HEAVY VEHICLE	MILEAC	E - 1 WAY	MI		75	\$3.65	\$273.75	
E101	CAR, PICKUP OR	VAN MII	EAGE - 1 WAY	MI		75	\$2.15	\$161.25	
E104	PROPPANT / BUL MILE, \$200 MIN	K DELIV	SERVICES/TON	TM	+	645	\$1.60	\$1,032.00	
E107	CEMENT SERVIC	E CHARO	<del>S</del> E	SK		200	\$1.50	\$300.00	
R200	CASING CEMENT HRS ON LOC.	PUMPEI	R, 0-300' 1ST 4	EA		1	\$662.00	\$662.00	
R701	CEMENT HEAD R	ENTAL		EA		1	\$250.00	\$250.00	

Date 9452

Sub Total: \$5,203.75 Discount: \$1,300.94 Discount Sub Total: \$3,902.81 Sumner County & State Tax Rate: 5.30% \$100.36

(T) Taxable Item Total:

\$4,003.17

RECEIVED ANSAS CORPORATION COMMISSION

MAR 1 5 2005

CONSERVATION DIVISION WICHITA, KS

ي .									
<u></u>			INVOICE NO.				EE	D ORDER	0177
			Date	Subj.	ect to Correction	·			9133
			Customer ID	24 Lumi	ulns	***	Well # /	Legal	31530
SER	VICES	, LLC	Customer ID	County	mner		State	Station-	
	ica Gas	5		Depth	Formation	7		Shoe Joint	
н А			· · · · · · · · · · · · · · · · · · ·	Casing /	Casing Depth	(C) 1	265	Job Type	2
R ——— G				Customer Repre	sentative	19	Treate	1 85/251	P. New Well
Ε	***************************************		<del>0</del>	Don	Statts			Bubby D.	rake
AFE Number	-	PO Nu	mhor		$\overline{}$		<i>(</i>	,	
	·	10144		Materials Received by	X Vor	) J.	tacto	S	
Product Code	QUANTITY	MATE	RIAL, EQUIPMENT	and SERVICES USED	UNIT PRICE	AM	OUNT	ACC CORRECTION	OUNTING
<u> </u>	200sk	1 . /	o Poz (co			-	00111	CORRECTION	AMOUNT
<u>C194</u>	45/6.	Celti	7,						
<u>C310</u>	5/6/6.	Calch	in Chlori						
F163	la.	Wood	en Coment	Plug, 85/8		<b>—</b>			
E100	75m1.	Hew		Mileage					
E101	75m1.	Picke		•		1		***************************************	
B104	645 tm.	Bulk	Delivary					RECEIVED	
E107	2005K,	Comen	+ Seille	Charce			*ANS/	S CORPORATION COM	ISSION
R200	100.	Comen	+ Pumper	Charge 0-300'				MAR   5 2005	
R701	1091	Conca	A Head K				c	ONSERVATION DIVISION	
	***************************************							WICHITA, KS	
***************************************									
								<del></del>	
								~	
		***************************************						·	
		**							
		·							
			<del>.</del>	, , ,					
			1.scount	ed Price	390281				
			they .						
						•			
					<u> </u>	·			
102// NE Ui	12V 61 P.O	Pov 0640	Deall 1/0 07404	0040		170000			
TUZ44 NE NIM	ray UI . P.U.	OUX ODIS.	Frant, KS 67124	-8613 · Phone (620)	672-1201 · Fax	(620) 67	2-5383 т	OTAL	